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A BTS2 2M ST ED
M AYS AR HEE AT MEH(SJALBB/HSR)
G H=s5sE HZEs 4 (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
-4 312,000
OE=E 14,880
-8 L A+ 9,600
-2 AIF 5,280
O=22| 104,400
OX A= 160,000
O&XEd ¥ 3l &oHy| 800,000
O& Xl &&| 400,000
=2Ezd 160,000
-=2&H 240,000
O3l &Il 400,000
-= L 160,000
-=2 240,000
o =K X4l 480,000
oBgsYg=2 398, 135
O& &2 210,000
SH=2Z (HH &4 698,000 870,000 A 172,000
307 2Iz2to| & 200,000 150,000 50,000
02 QIZHA AAIE E X 200,000 150,000 50,000
OJIMAHISHM X 200,000
703 NRHIEEIHNES 498,000 720,000 A 222,000
0 EHEEEZ 498,000 720,000 A 222,000
Osty 2 &% X 498,000
HEFIIBAIE &= 30,784,866 27,632,866 3,152,000
Xl 11,841,000
Dl 5,668,000
& 13,275,866
H=SAE &5 8435 9,866 9,866 0
202 044l 9,866 9,866 0
01 2L I 9,866 9,866 0
SEMSIAIEY HHEASO L oA H 2,000
OZ2Z2HMEALE SEAIY =X 7,866
2Z2HEAE &= 4,420,000 6,490,000 A 2,070,000
403 XX SHHS K20 & 4,420,000 6,490,000 A 2,070,000
01 MXSHHE2BE = 4,420,000 6,490,000 A 2,070,000
OMEHSAIE M4 L HE 5 1,920,000
OZJATUM=UZ MHA K& 2,500,000
HESAE ?IE22 1,400,000 1,210,000 190,000
403 XX SHHS K20 ™ 1,400,000 1,200,000 200,000
02 BII2SHCHSCHE AL I 1,400,000 1,200,000 200,000
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A 2o2ZAH=E2 M4 HEIEDL
M AU AT H=E AT MH(2JALBB/S)
EHel: MSFIIBAIE &= (&)
2 - 4
2.2A BB (3) - MR 0l &t o8 il HlnE2
OSHAZ=AA S22 1,400,000
Ed FEUH MENEsY 24(=21) 586,000 0 586,000
Xl 400,000
< 186,000
403 MtXISHHE X201 E 586,000 0 586,000
Xl 400,000
< 186,000
01 AXSHMA=2EE 586,000 0 586,000
O=d FE&EU MEN=s33 24 586,000
Xl 400,000
< 186,000
2= EHEOIRE L et AJHOIER (= 352,000 440,000 288,000
X 240,000
< 112,000
403 XtXI A S A2 01 & 352,000 440,000 88,000
Xl 240,000
< 112,000
01 X EHHMA=ZLE L 352,000 440,000 A 88,000
OR= H&E OF& % ot A 352,000
Xl 240,000
< 112,000
Sol SEsE ZTAFRE =4(=21) 132,000 220,000 A 88,000
Xl 90,000
< 42,000
403 XSS A=0l& 132,000 220,000 A 88,000
Xl 90,000
= 42,000
01 X SHMA2E X 132,000 220,000 A 88,000
O EE2sE ZT&RE 24 132,000
Xl 90,000
< 42,000
84 HOIAZ HIOIIA X4 (2D) 4,467,000 467,000 3,000,000
Xl 3,046,000
< 1,421,000
403 XIS E X201 & 4,467,000 ,467,000 3,000,000
Xl 3,046,000
< 1,421,000
01 X SHHN2E = 4,467,000 ,467,000 3,000,000
og4d HiolA=2 HOHIIE =4 4,467,000
Xl 3,046,000
< 1,421,000
ga SEMSAE A8 (21) 1,100,000 880,000 220,000
Xl 750,000
< 350,000
403 MHXSHHSA=0l& 1,100,000 880,000 220,000
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A= 2o FHE= FMHSIEY
M AYS AR HEE AT MEH(SJALBB/HSR)
S MFIALE &5 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Al 750,000
< 350,000
01 AXISHHA=2E = 1,100,000 880,000 220,000
OdE =SENMSAE 2E 1,100,000
Xl 750,000
< 350,000
oM Matesd =4(21) 1,320,000 880,000 440,000
Xl 900,000
< 420,000
403 XIS E X201 & 1,320,000 880,000 440,000
Xl 900,000
< 420,000
01 AXSHHMA2E = 1,320,000 880,000 440,000
OQHM NMat2sd =4 1,320,000
Xl 900,000
< 420,000
2y ZERsE A (2 2) 2,507,000 1,687,000 820,000
X 1,940,000
< 567,000
403 X SHHSA=0l& 2,507,000 1,687,000 820,000
Xl 1,940,000
< 567,000
01 HIXESHMA2E X 2,507,000 1,687,000 820,000
oLy ZE=2sH AHE 2,507,000
Xl 1,940,000
< 567,000
Eiel SXNDARSE 24 (=21) 1,466,000 0 1,466,000
Xl 1,000,000
< 466,000
403 MHXISHHE X201 H 1,466,000 0 1,466,000
Xl 1,000,000
< 466,000
01 XIS A2 E= 1,466,000 0 1,466,000
OH% XD 2sH =4 1,466,000
X 1,000,000
< 466,000
e ARG FAHI AT LAY (D) 440,000 0 440,000
Xl 300,000
< 140,000
403 A X EHHS =0l A 440,000 0 440,000
Xl 300,000
< 140,000
01 X HHMA=LE L 440,000 0 440,000
0YD YIS FTHE AIX & 440,000
Xl 300,000
< 140,000
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MSIIBEAIE &= (&)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2

24 EUH SERIAMSHE A-(22) 660,000 0 660,000
Xl 450,000
< 210,000

403 UHXISHHSA=0l& 660,000 0 660,000
X 450,000
< 210,000

01 HXESHMA=LE L 660,000 0 660,000
O2Hd = =SE2sM=sHH HE 660,000
Xl 450,000
< 210,000

& 28 Mssd =4(=21) 1,210,000 0 1,210,000
Xl 825,000
< 385,000

403 MtXISHH S0l & 1,210,000 0 1,210,000
Xl 825,000
< 385,000

01 AXSHMA=2E X 1,210,000 0 1,210,000
oBz EHN=34 x4 1,210,000
Xl 825,000
< 385,000

28 bz FAX2sE T4 (21) 350,000 0 350,000
Xl 350,000

403 XIS E X201 & 350,000 0 350,000
Xl 350,000

01 X EHHMA=LE XL 350,000 0 350,000
OZE etz dAIMC2sE =4 350,000
Xl 350,000

A dAX PSE MHAXL ZH(=21) 350,000 0 350,000
Xl 350,000

403 Ut SHHSA=0l& 350,000 0 350,000
Xl 350,000

01 HXSHMA=E X 350,000 0 350,000
OMH UAX HAUNLSSH X4 350,000
Xl 350,000

EXM MED 2SE AXIXC ZHAIE (=) 350,000 0 350,000
X 350,000

403 MtXSHHE X0l & 350,000 0 350,000
Xl 350,000

01 X SHMA=2E X 350,000 0 350,000
O8d MALD 23 AX&0 =4 350,000
Xl 350,000

A7 =H HS3Y HEFI2EY 24 (=212) 350,000 0 350,000
Xl 350,000

403 XIS S X201 & 350,000 0 350,000
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I SN Y. B () NEAY - BAS 0 AF o il HDS2

Al 350,000

01 X SHM 22X 350,000 0 350,000
oL SH M3 M52 =4 350,000
Xl 350,000

e S§2sHd oXEC &X(=21) 350,000 0 350,000
Xl 350,000

403 MtXISH M S K201 350,000 0 350,000
Xl 350,000

01 X SHHMA 22X 350,000 0 350,000
oy Zgesd AT & 350,000
Xl 350,000

S IHHZ22H01E &2 &5(21) 220,000 0 220,000
Xl 150,000
T 70,000

403 ItXISHHSA201 A 220,000 0 220,000
Xl 150,000
T 70,000

01 XX SHMA2E X 220,000 0 220,000
oSl IHei2e0ly 838 &5 220,000
Xl 150,000
& 70,000

T HSss AHE(=Z1) 8,745,000 7,000,000 , 745,000
Jl 5,668,000
& 3,077,000

401 Al HI YL 2 0HHI 220,000 15,000 205,000

01 A& HI 200,000 0 200,000
O M=zt HE A& 200,000

03 A& 20 b 20,000 15,000 5,000
T ME3s2 AE AME2UYI 20,000

403 ItXIHAMSA201 & 8,525,000 6,985,000 1,540,000
Dl 5,668,000
T 2,857,000

02 B3I 2 S 0l CH St CH & AFR B 8,525,000 6,985,000 1,540,000
O N3 HE ALY 8,525,000
J| 5,668,000
& 2,857,000

ZtZ AL oI5 O K& 22,349 69, 149 A 46,800

22 A oI I K& 22,349 69, 149 A 46,800

201 Yot Y| 10,469 37,269 26,800

01 AFR2t2l bl 10,469 37,269 A 26,800
0ot 29 10,469

202 04| 11,880 11,880 0
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A BTS2 2M ST ED
FM: ALs e =6 AT A (2L 2Z/HF)
S ZHZAE 250 X (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 = LH 4 bl 11,880 11,880 0
©els ot ge=a 11,880
Hsdz NE € ¢ s4 18,168,852 19,339,852 A 1,171,000
J| 25,000
= 18,143,852
& 4ol MEEH 29 - AE 14,633,800 12,704,800 1,929,000
307 glz2+ol & 14,633,800 12,704,800 1,929,000
02 It M AHEE 11,599, 160 12,704,800 A 1,105,640
Ok M=3 XN& 10,007,945
O HUelM=s3 X& 1,301,215
Ok M=z XA 290,000
03 QIAHMEE2IHIES 3,034,640 0 3,034,640
ok H=3 XA 1,451,055
Ok ZHeld=sl XA 724,585
Ok dEH=3 XA 859,000
M= 245t 53,800 83,800 /30,000
202 Odl 3,600 3,600 0
01 = LH 4 Hi 3,600 3,600 0
OZM HM=s2S X 3,600
307 BI2+0| & 50,200 50,200 0
04 QIZFHALAIH E = 50,200 50,200 0
OXHM M=Uz X 50,200
M=l 2435t 16,252 16,252 0
201 et | 1,500 1,500 0
01 At 22l 1,500 1,500 0
OUal=EA &I & =% 5 WH 1,500
202 O4dl 14,752 14,752 0
01 = LH 4 Hi 14,752 14,752 0
OM=Ual Mzl & HFIHXA 13,752
OM=HH 54 X 1,000
Zoje MEHM=sUHs HE(21) 50,000 50,000 0
J| 25,000
= 25,000
307 21201 A 50,000 50,000 0
J| 25,000
= 25,000
04 DIZFHALALSE E X 50,000 50,000 0
OZOQ M= N = 50,000
J| 25,000
= 25,000
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A2 23BBAS2 SN HSNED
M. HAS Hs d=2s AT A (L2 /M)
ool MS0E N L oH s4 (ol @)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
ZRACNTZ2E2CH(AAFC) 43 X2 2,000,000 3,000,000 A 1,000,000
307 212t01 & 2,000,000 3,000,000 A 1,000,000
02 DIZtZAAMEE X 2,000,000 3,000,000 A 1,000,000
OZ&FC 29 XN& 2,000,000
d=xMEXNSUHSHE I XA 190,000 1,940,000 A 1,750,000
307 QI2t0| & 190,000 1,940,000 A 1,750,000
02 DI2ZtZ &AM E X 190,000 0 190,000
(©OF=wla] 190,000
ZRACMEH=FUHS N X 140,000 140,000 0
307 QI2t0| M 140,000 0 140,000
04 DIZFEHALAFRI 2 & 140,000 0 140,000
OZJATUMETEUHS M= XA 140,000
MEHE SSEUHg &I XNE 120,000 120,000 0
307 QI2t0| ™ 120,000 120,000 0
02 DI2ZHE MAIEE X 120,000 0 120,000
oOAE M=t MEXMsUHa &2ItHl XA 120,000
MNEME L MESMHsUHS XA 492,000 492,000 0
307 212t01 & 492,000 492,000 0
04 QIZHSHAFAIE 2 X 492,000 492,000 0
OZAZXIADI(HY) &8¢ =0z XN 492,000
A& MsdEHAF XA 378,000 378,000 0
307 212t01 & 378,000 378,000 0
04 QI2FSHALAIE 2 = 378,000 378,000 0
Ol MSHA X 378,000
2y =6 €229 tia e X 30,000 30,000 0
308 XX S M SO0l & 30,000 30,000 0
01 AIXHMBAEXZ 30,000 30,000 0
olzgd =X 2c2tdial Mzl XN 30,000
SAE2YE S20U3 H=XH 50,000 50,000 0
307 QI2t0| ™ 50,000 50,000 0
04 DIZHSHAFAIRE 2 X 50,000 50,000 0
OR4AEZE =208 KA X 50,000
2EGN)E 82 32043 15,000 10,000 5,000
308 AXISHXSO0IH 15,000 10,000 5,000
01 AIXHMBAEXZ 15,000 10,000 5,000
OGN E &= &32U 3 15,000
MEXNE TAUERN Za 3,856,654 3,238,248 618,406
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A=
=R S =E YAT AH(2ALV/HF)
CHelr MBS SO0 = (29 & 9)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
Il 2,959,439
< 897,215
MEHNESEZZIY 22 216,000 200,000 16,000
308 XXM SO0 216,000 200,000 16,000
01 AXNSGHBLAEES 216,000 200,000 16,000
oMais nwa 29 XA 216,000
MEHES 2/ (=) 73,064 73,064 0
| 65,647
< 7,417
307 glz2+0ol & 14,834 14,834 0
| 7,417
= 7,417
02 QB HAANGEEE 14,834 14,834 0
Ok dEH=3 XA 14,834
| 7,417
< 7,417
308 XX EHH SOl A 58,230 58,230 0
J| 58,230
01 AXSGHBLELS 58,230 58,230 0
oMar=ss 2HXA 58,230
| 58,230
MEMSXASX X (22) 1,323,696 1,627,296 A 303,600
| 1,323,696
308 XXM S0 A 1,323,696 1,627,296 A 303,600
| 1,323,696
01 AXNSHHBLAEES 1,323,696 1,627,296 A 303,600
OMEMEXZX BHXI 1,323,696
| 1,323,696
Hza dsgs X (=2) 1,101,704 798,104 303,600
| 1,079,116
< 22,588
307 21201 A 45,176 45,176 0
| 22,588
< 22,588
02 HAFAANFEX 45,176 45,176 0
Oz Ns&s X 45,176
| 22,588
< 22,588
308 XXM S0 1,056,528 752,928 303,600
J| 1,056,528
01 AXSGHBLEES 1,056,528 752,928 303,600
ooz Nsgs X 1,056,528
| 1,056,528
HEUHRSH AHE(21) 596,190 539,784 56,406
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AR S22 2A H=&ED
HE: AU AT = VAT M (SHUZF/AS)
Col MENS TOEN = CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
Pl 490,980
& 105,210
308 XHXIEH SO0l A 596,190 539,784 56,406
J| 490,980
= 105,210
01 AIKSHHEMNEX= 596,190 539,784 56,406
OAL=HIRH At K& 596,190
J| 490,980
& 105,210
MEHE = HLE 30,000 0 30,000
307 QI2t0| ™ 30,000 0 30,000
04 CIZ2tSHAPALS B X 30,000 0 30,000
OLJIE-FECIE MENSE 2HMUF A 30,000
A2 HE MTB ZAXAE AYAYE 480,000 0 480,000
403 XX SHHS K20 & 480,000 0 480,000
01 XIS A2E X 480,000 0 480,000
OU/AT YE MATPEH(MTB)Z =M 480,000
E2Y AZXZE 2 JM XA 36,000 0 36,000
307 2Iz2to| & 36,000 0 36,000
02 QIZFAAAIE E X 36,000 0 36,000
oz=sY AZxZ2YE 2N XNH 36,000
e 2Mes 2435 227,433 208, 102 19,331
EPSpr SIS 227,433 208, 102 19,331
201 LBt | 54,410 46,730 7,680
01 AP 22| H| 12,880 8,000 4,880
O=ZNMHMELSF 12,880
03 &AL EH| 41,530 38,730 2,800
O=ZMHHM=LE 41,530
202 o4 | 1,500 1,500 0
01 2L HI 1,500 1,500 0
O=2MHHM=LF 1,500
301 et A= 165,523 159,872 5,651
06 212t01 =22/ (4 HI 33,800 81,770 N4T7,970
O=ZMHHM=ETLE 33,800
07 28l == 0 H| 110,250 53,880 56,370
O=2MHM=LE 110,250
09 HAIAHI BEAZ 21,473 24,222 A2,749
O=ZMHHM=ELE 21,473
307 S12t0| & 6,000 0 6,000
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2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2

OM&E RIS Z& 5,000

401 Al B2 28I 451,000 0 451,000

04 S AL2tE Al & HI 451,000 0 451,000
Odst&dl M= 235,000
OEEANEE M, &EX 116,000
OZZEE(EE S) HMHE &X 100,000

HIAME 2 NA(=2) 10,471,000 0 10,471,000
| 2,000,000
= 8,471,000

307 21201 A 10,214,000 0 10,214,000
| 2,000,000
= 8,214,000

02 It S AHE L 9,173,100 0 9,173,100
ouns ¥ =xtzel XA 40,000
OZJI2ER(H=3l) AFSXI& 7,133,100
OZJII2YR(M=3l) AFS K& 2,000,000
| 2,000,000

03 I H2HHIEX 440,900 0 440,900
oZJI2gR(M=ss )2 440,900

05 QI & 3 600,000 0 600,000
OXNFESAN 22 (28 s, 29 &) 600,000

308 XXM S0 A 257,000 0 257,000

01 AXNSGHBLAEES 257,000 0 257,000
OEES M XX (EEE . HUII &) 198,000
OAZ datess 2EXE 39,000
OdstEss XA XI& 20,000

HIAH QIR ANLHE 6,405,000 0 6,405,000
| 3,767,000
< 2,638,000

S SAHAIE HES (D) 102,000 0 102,000
| 60,000
= 42,000

403 Ut SHHSA=0l& 102,000 0 102,000
| 60,000
< 42,000

01 XM A=2E X 102,000 0 102,000
OSLYHAIE HES 102,000
J| 60,000
< 42,000

SAHUAES 7HA HEX(Z21) 102,000 0 102,000
| 60,000
< 42,000

403 MtXISHHE X201 & 102,000 0 102,000
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A BTS2 2M ST ED
M AN HZH WA (2VLBE/AR)
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- _ _ RE]
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Pl 60,000
= 42,000
01 MXHAMAEBE = 102,000 0 102,000
OSZAHLIAZR Q 7HA HES 102,000
Jl 60,000
= 42,000
QAF HSHS2A AL HEL(Z21D) 102,000 0 102,000
J| 60,000
=} 42,000
403 XX SRS K 20| & 102,000 0 102,000
J| 60,000
=} 42,000
01 AXESHIEE X 102,000 0 102,000
B2 Al JHE 102,000
J| 60,000
= 42,000
A= XAAHSD AL HESX(Z1D) 102,000 0 102,000
J| 60,000
= 42,000
403 XX SHS K20 & 102,000 0 102,000
J| 60,000
= 42,000
01 AIXISHHMA2E X 102,000 0 102,000
OXAHM=2 AlE HE £ 102,000
J| 60,000
= 42,000
SMABXIHIZB(AFHAE) AMEZAH(Z1) 1,177,000 0 1,177,000
J| 692,000
& 485,000
403 XX SHHS K20| & 1,177,000 0 1,177,000
J| 692,000
& 485,000
01 MXHHE2BE =X 1,177,000 0 1,177,000
OUZE SABXZHAIT(AFHAFR)A= 1,177,000
J| 692,000
== 485,000
AZE ZER2s HEX(Z21) 714,000 0 714,000
Jl 420,000
o= 294,000
403 XX SHHMS K201 A 714,000 0 714,000
Il 420,000
o= 294,000
01 IS RS2 X 714,000 0 714,000
OULEZE=2SE MES 714,000
J| 420,000
= 294,000
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< 106,000
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J| 150,000
< 106,000

01 HXESHMA=LE L 256,000 256,000
OLE ZL=SLE2SE B 256,000
J| 150,000
< 106,000

25 =223 AUNsE BEx(=21) 153,000 153,000
J| 90,000
< 63,000

403 MtXISHH S0l & 153,000 153,000
J| 90,000
< 63,000

01 AXSHMA=2E X 153,000 153,000
OF=ZdAUNM=Z HE > 153,000
J| 90,000
< 63,000

UE AUBBHSE 24(31) 25,000 25,000
J| 15,000
< 10,000

403 A X EHHS =0l A 25,000 25,000
J| 15,000
= 10,000

01 X EHHMA=LE L 25,000 25,000
OZE AUSENMSZ HE= 25,000
J| 15,000
< 10,000

28 AUMsS2 E3AH(=1) 153,000 153,000
Jl 90,000
< 63,000

403 RIXISH S X =0l & 153,000 153,000
J| 90,000
< 63,000

01 HXSHHMA=E X 153,000 153,000
OZE HUME2 2=+ 153,000
J| 90,000
< 63,000

28 ZEHLULAZE HES(=1) 51,000 51,000
J| 30,000
< 21,000

403 XSS AE201 & 51,000 51,000
J| 30,000
< 21,000
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HaM: M2 HAE A2F Nz (2L 2Z/HS)
SR MEHE ZIIT NS CERED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
01 XIS A2 X 51,000 0 51,000
OLE L=HUAZE HES 51,000
J| 30,000
o= 21,000
22 2 =122 84(21) 204,000 0 204,000
J| 120,000
& 84,000
403 XX SHHS K20 & 204,000 0 204,000
J| 120,000
& 84,000
01 MXSHHXNE2E =X 204,000 0 204,000
0YS YLEIZY 24 204,000
J| 120,000
& 84,000
22 gC3H B24(20) 51,000 0 51,000
J| 30,000
o= 21,000
403 XX SHHM S X201 & 51,000 0 51,000
J| 30,000
o= 21,000
01 XS A=2E X 51,000 0 51,000
oOLE R B 51,000
J| 30,000
= 21,000
22 22 & M=E(=2D) 748,000 0 748,000
J| 440,000
& 308,000
403 XX SHHS K20 & 748,000 0 748,000
J| 440,000
o=t 308,000
01 XIS A=Z2E X 748,000 0 748,000
oOLE =8 & W= 748,000
J| 440,000
= 308,000
22 St BE4(=21) 153,000 0 153,000
J| 90,000
= 63,000
403 XX SRS K20 & 153,000 0 153,000
J| 90,000
= 63,000
01 AXESHHEE X 153,000 0 153,000
OLE2S0=2 B 153,000
J| 90,000
& 63,000
A2 o285 HELX(Z21) 51,000 0 51,000
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By @RHY STH HH(SJILBY/HS)
Sl WRHE FIIB ANLBE A:Ee)
- — — L=
oSN (EH) - NEAY - B dE = HRE2
Ofl &F o4
Pl 30,000
= 21,000
403 XX SHHS K20 & 51,000 51,000
J| 30,000
= 21,000
01 XIS AE2E X 51,000 51,000
oL o2& ME 4 51,000
J| 30,000
& 21,000
el ZOIHSHE HES(Z21D) 102,000 102,000
J| 60,000
=} 42,000
403 XX SRS K20 & 102,000 102,000
J| 60,000
& 42,000
01 AXESHHI=2E X 102,000 102,000
OB 20 HSHE HE S 102,000
J| 60,000
= 42,000
Eied DS 224 HEL(=Z21D) 153,000 153,000
J| 90,000
= 63,000
403 XX SHS K20 & 153,000 153,000
Jl 90,000
= 63,000
01 AIXISHHM RS2 X 153,000 153,000
OB DA T2 ME S 153,000
J| 90,000
& 63,000
=X HA0RE E4(21) 102,000 102,000
J| 60,000
= 42,000
403 XX SHHS K20 & 102,000 102,000
J| 60,000
= 42,000
01 XIS A=Z2E X 102,000 102,000
OZFZHANRE B 102,000
Jl 60,000
= 42,000
AR HSH NEL(2D) 230,000 230,000
J| 135,000
o= 95,000
403 XX SRS R 20| & 230,000 230,000
J| 135,000
=} 95,000
01 XS A2E X 230,000 230,000
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A= 2AZH=E= SMMsIED
BE: MR SDH N (SHLD /)
SRl MIAMT FIIT ALES CERED
= _ - 4 &
FRA BB GASA) - MRAY - BES 0f o e HI D52
OdEM=2 HE= 230,000
Jl 135,000
S 95,000
Ed 2 Bx(=21) 102,000 0 102,000
Jl 60,000
= 42,000
403 TtXI M SA=01A 102,000 0 102,000
Jl 60,000
= 42,000
01 TtXIEHH X2 2 & 102,000 0 102,000
o= 2+ 102,000
Il 60,000
S 42,000
gdE 3LE2sE FH(=2) 612,000 0 612,000
2l 360,000
S 252,000
403 AR SHHMS K201 H 612,000 0 612,000
Jl 360,000
= 252,000
01 HXHH =2 = 612,000 0 612,000
oZISL=2SE FHl 612,000
Il 360,000
S 252,000
2 AUHMEZ HE+(=1) 66,000 0 66,000
Il 39,000
S 27,000
403 TtXI M SA=01H 66,000 0 66,000
Il 39,000
S 27,000
01 TtXIEHH A2 2 & 66,000 0 66,000
CEILUUMS2 HE= 66,000
) 39,000
S 27,000
StE X ISR ZIE Ex(=21) 408,000 0 408,000
Jl 240,000
S 168,000
403 AR SHHMS K20l E 408,000 0 408,000
Jl 240,000
S 168,000
01 XM It2 2 & 408,000 0 408,000
Osd =38 ,t+8J18 B+ 408,000
Il 240,000
= 168,000
%P ATHAYAR A=(2D) 153,000 0 153,000
Il 90,000
S 63,000
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= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t

403 UHXSHHSA=0l& 153,000 153,000
J| 90,000
< 63,000

01 X SHMA2E X 153,000 153,000
OLF AEUHE M= 153,000
J| 90,000
< 63,000
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J| 16,000
< 11,000

403 MtXISHHE X201 & 27,000 27,000
J| 16,000
< 11,000

01 XM A=2EE 27,000 27,000
O NHN=2 28 27,000
J| 16,000
< 11,000

DHADNSED M2 HES(22) 153,000 153,000
J| 90,000
< 63,000

403 A X EHHS =0l A 153,000 153,000
J| 90,000
< 63,000

01 X SHHMA=2LE L 153,000 153,000
Ond ZEHNsZ HE=> 153,000
J| 90,000
< 63,000

LANTBEIIE ZHAIE (=) 102,000 102,000
J| 60,000
< 42,000

403 X SHHSA=0l& 102,000 102,000
Jl 60,000
< 42,000

01 X SHMA=2E X 102,000 102,000
OL2AMTB BIIE LAY 102,000
J| 60,000
< 42,000

%Y QEIFBH(2D) 51,000 51,000
J| 30,000
< 21,000

403 MHXISHE X201 E 51,000 51,000
J| 30,000
< 21,000

01 X SHHX2E = 51,000 51,000
oY QLEZIE B+ 51,000
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